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QUESTION 1

Which two components can class declarations include? 

A. A list of instance methods 

B. The main method 

C. Interfaces implemented by the class 

D. The public modifier 

Correct Answer: CD 

Reference: https://docs.oracle.com/javase/tutorial/java/javaOO/classdecl.html 

 

QUESTION 2

Given the code fragment: 

What is the result? 

A. A compilation error occurs at line n1. 

B. Jack 

C. The program prints either Jack or Queen. 

D. Queen 

Correct Answer: A 
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QUESTION 3

Given: 

At which line does a compilation error occur? 

A. line 5 

B. line 2 

C. line 3 

D. line 7 

Correct Answer: A 

 

QUESTION 4

Given the code: 

Latest 1Z0-811 Dumps | 1Z0-811 PDF Dumps | 1Z0-811 VCE Dumps                                3 / 6

https://www.pass4itsure.com/1z0-811.html
https://www.pass4itsure.com/1z0-811.html
https://www.pass4itsure.com/1z0-811.html


https://www.pass4itsure.com/1z0-811.html
2024 Latest pass4itsure 1Z0-811 PDF and VCE dumps Download

Which code fragment, when inserted at line n1, enables the code to print sum is 30? 

A. int sum(int a, b) { 

B. int sum(int a, int b) { 

C. int sum(int, int) { 

D. int sum(int[] a, b) { 

Correct Answer: D 

 

QUESTION 5
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Identify two Java reserved words. 

A. array 

B. true 

C. this 

D. exception 

E. string 
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Correct Answer: BC 

Reference: https://www.computerhope.com/jargon/j/java_reserved_words.htm 
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